Virginia High School League Scholastic Bowl
page 8
2007-08 Region Competition

Match #9


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This composer wrote the philosophy work Problems and Mysteries, the poetry collection Familiar Rhymes, and was a member of the Astronomical Society of France. He wrote an original piano composition at age 3, and wrote his First Symphony in E flat major at age 16. The aria ‘My heart opens itself to your voice’ is in his opera, Samson and Delilah. On the death of his friend Franz Liszt, he wrote his Third, or Organ, Symphony. Who also wrote Danse macabre and The Carnival of the Animals? 


ANSWER: Camille Saint-Saens
2.
After his country’s navy was destroyed at the Battle of Navarino, he asked to rule over Syria. When his government denied this request, he launched a rebellion that nearly overthrew the Sultan, Mahmud II. He came to power after the Battle of the Pyramids, where Napoleon defeated the army of the Mamluks. He then killed most of the remaining Mamluks in 1811. Who, between 1805 and 1849, was Ottoman viceroy of Egypt? 


ANSWER: Muhammad Ali Pasha al-Mas’ud ibn Agha of Egypt or Mehmet Ali Pasha

3.
THIS IS A COMPUTATION QUESTION. Convert 5/32 into a decimal, given that 1/32 equals 0.03125.

ANSWER: 0.15625
4.
He started his literary output with the short story ‘A History of Yesterday’ and the novel Childhood. He wrote Sebastopol Sketches about his experience in the Crimean War, and as Justice of the Peace, oversaw the start of the serf emancipation of 1861. In one of his most famous novels, the title character throws herself under a train. The other of his famous novels is set during the Patriotic War, where Napoleon invaded Russia. What author wrote Anna Karenina and War and Peace? 


ANSWER: Leo Tolstoy
5.
Named after the German physicist who formulated it in 1834, it is a consequence of the principle of the conservation of energy.  Name this law that states that for a current induced in a conductor, the current flows in a direction so that its own magnetic field opposes the change that produces it.

ANSWER: Lenz’s law

6.
This word refers to a French computer company founded in 1931. It refers to the most senior ensign on a Navy ship or a solemn decree from the Pope. While Moses was on Mount Sinai, the Israelites worshiped a golden one of these. What word refers to a rising stock market, an unlikely statement, or to a large male animal, such as a bovine? 


ANSWER: bull

7.
After it is over, the heavenly realms of Andlang and Vidlain will be filled and the realm of Nastrond will be the resting place of the wicked. One side will sail to it in a ship called Naglfar, which is made from the fingernails of the dead. Gods such as Vidar, Vali, Magni, and Modi will be part of the new order, which will be overseen by Hodur and the re-born Balder. The dead will include the Fenris wolf and Jormungard (yor-moon-gard). Heimdall, Loki, Odin, and Thor will all die in what climactic battle of Norse mythology? 


ANSWER: Ragnarok
8.
Its two main species are Gossypium hirsutum and Gossypium barbadense.  The largest producer of it is China and the largest exporter of it is the United States.  It can be affected by rust and various types of rot, but its main pest is the boll weevil.  Name this shrub that grows fibers used in clothing.

ANSWER: cotton
9.
Bill Hambrecht has proposed more of these be done through Dutch auctions. The biggest danger in one of these is overpricing, which means the underwriting firm is stuck with large amounts of securities they cannot sell. There are two ‘quiet periods’ associated with one of these: one is the time between filing an S-1 form and the SEC allowing it to proceed, and the other is the first 25 days of public trading. What is the process by which a company sells its shares to ordinary investors for the first time? 


ANSWER: initial public offering or IPO
10.
The St. Kitts and Nevis Declaration was adopted in 2006 to protest the 1986 moratorium on this activity. Since 1987, Japan has done this, claiming it is needed for valuable scientific research. Norway didn’t sign the moratorium, and thus still does this commercially with the relatively plentiful minke. Canada and the US allow native groups, such as the Inuit and the Makah of the Pacific Northwest, to engage in this activity, usually hunting the bowhead variety. What activity is the hunting of large cetaceans? 


ANSWER: whaling
11.
People who have defeated this group in court include Brittany Chan, who was 13 years old, and Deborah Foster, who didn’t own a computer. Jammie Thomas, however, had to pay $222,000 after losing her case. A lawsuit for $1.65 trillion was dismissed since US courts have no authority over Russian websites. It was founded in 1952 to provide technical standards for LPs, and certifies songs and albums as gold and platinum. What alliance of music companies is known for suing those who illegally download music?  


ANSWER: RIAA or Recording Industry Association of America 

12.
This publisher of a weekly newspaper called The Revolution broke temporarily with Frederick Douglass over the 15th Amendment. She disagreed that the Amendment allowed Blacks, but not women, the right to vote. She later broke with Elizabeth Cady Stanton, who believed the suffragist movement should pursue women’s issues beyond getting the vote. The opera The Mother of Us All is based on her life. Between 1980 and 1983, what feminist leader appeared on a dollar coin? 


ANSWER: Susan B. Anthony
13.
He controls the Atomic Monkey Special Forces and had his head reach a dangerous size after wearing a Brain Gain helmet. He teases his friend Carl about Carl’s interest in llamas, but gets defensive when someone calls his ‘action figures’ dolls. His interest in Libby Folfax was mostly returned. What worshipper of Ultra Lord is friend to Carl Wheezer and Jimmy Neutron? 


ANSWER: Sheen Estevez

14.
In mineral form, it is known as sassolite.  It is a white crystalline solid with a molecular mass of 61.8.  It is used as a flame retardant, an insecticide, an antiseptic, and in nuclear power plants to control the fission rate of uranium.  Name this weak acid with chemical formula H3BO3.

ANSWER: boric acid

15.
Lithuanian has 13 types of this verb form. Latin had a future version of this verb form, but English only has two – the present and the past. Irregular English verbs will have a separate form for the past type of this verb form. What verb form appears in English when a helping verb is needed, and is often formed by adding “-ing” and “-en” to the verb? 

ANSWER: participle(s) 

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What head of the United Mine Workers of America between 1920 and 1960 was also the first head of the Congress of Industrial Organizations? 


ANSWER: John L. Lewis
1B.
THIS IS A COMPUTATION QUESTION. What number follows in the pattern 2, 6, 9, 27, 30, 90, 93?

ANSWER: 279
2A.
The destination of the first five space tourists is what facility that will be completed in 2010, but has been lived in since 2000? 


ANSWER: International Space Station or Space Station Alpha
2B.
The term ovine refers to what animal?

ANSWER: sheep
3A.
What word, whose origin comes from a Latin word meaning ‘of words,’ refers to the sum of words understood by someone, or the entire list of words in a language? 


ANSWER: vocabulary

3B.
What thoroughbred racetrack in Kentucky is the site of the Kentucky Derby?  


ANSWER: Churchill Downs
4A.
Chromosomes align in the cell nucleus during what second phase of mitosis?

ANSWER: metaphase
4B.
Who wrote the novels Terms of Endearment and Lonesome Dove? 


ANSWER: Larry McMurtry
5A.
THIS IS A COMPUTATION QUESTION. Convert the base 8 number 234 into a binary number.

ANSWER: 10011100 (one-zero-zero-one-one-one-zero-zero)

5B.
Flowing between the Gangotri Glacier in the Himalayas and the Bay of Bengal is what sacred river of India? 


ANSWER: Ganges River

6A.
What is the command in C++ to convert a string that is a number into an integer, whose value is that number? 

ANSWER: ATOI  (A- To- I)

6B.
Yevgeny Zamyatin wrote what dystopian novel about D-503’s rebellion against the One State? 


ANSWER: We
7A.
Write down the following sentence. (Quizmaster: speak slowly.) Juan gives me the book. (Quizmaster: speak normally.) Translate that sentence into Spanish.

ANSWER: Juan me da el libro. or Juan da el libro a mi.

7B.
The Greek Dark Ages were supposedly caused by an invasion of what people, less civilized than the Mycenaeans? 


ANSWER: Dorian(s)

8A.
What former mayor of Cologne was the first Chancellor of West Germany? 


ANSWER: Konrad Adenauer
8B.
THIS IS A COMPUTATION QUESTION. What is the midpoint between the points (-93, 41) and (-13, 17)? 

ANSWER: (-53, 29)
9A.
‘Banjo on My Knee’ is not the title of what song by Stephen Foster? 


ANSWER: ‘O! Susanna’

9B.
What Italian painted The Birth of Venus? 


ANSWER: Sandro Botticelli
10A.
THIS IS A COMPUTATION QUESTION. Factor x squared minus 23x minus 330.

ANSWER: (x plus 10)(x minus 33) (can be said in either order)

10B.
What element is located between copper and gold on the periodic table?

ANSWER: silver
Third period, 15 toss-ups, 10 points each

1.
He was elected to the Royal Society for discovering how baby cuckoos pushed other eggs and chicks out of the nest. While a teenager, he apprenticed to a surgeon named Dr. Ludlow. He noticed that sufferers of a mild disease seemed resistant to epidemics of a certain severe disease. As an adult, he took pus from a milkmaid named Sarah Nelmes. He infected his gardener’s son with the mild disease, which made him immune to the severe disease. Who used cowpox to develop a vaccine for smallpox? 

ANSWER: Edward Jenner
2.
He is on the back of the $2 bill between John Adams and Robert Livingston.  Along with Robert Morris, he is the only person to have signed the Declaration of Independence, the Articles of Confederation, and the Constitution. He was a member of the Committee of Five that drafted the Declaration of Independence. He was mayor of New Haven, Connecticut, from 1784 until his death. He combined the Virginia and New Jersey Plans. Who offered the Great Compromise to the Constitutional Convention? 


ANSWER: Roger Sherman
3.
This fictional character’s real name was Eugenia Victoria. She was scared of the dark, since Mammy said there were ‘buggerboos’ in the dark. Her father refused to put her in a coffin due to this fear. Her nickname was based on her eye color. It was given, one week after her birth, by Melanie Wilkes. After learning to ride sidesaddle, she died at age five while trying to jump her horse over a bar she raised. In Gone with the Wind, who was the only child of Rhett and Scarlett? 

ANSWER: Bonnie Blue Butler 
4.
This group’s last Top 40 hits were ‘Indestructible’ and ‘When She Was My Girl.’ Duke Fakir is the only survivor of this group’s founders, and is still a member. They recorded two albums in the early 1970s with the Supremes as ‘The Magnificent Seven.’ Their other founders were Lawrence Peyton, Obie Benson, and Levi Stubbs. They had two number one hits, ‘I Can’t Help Myself’ and ‘Reach Out I’ll Be There.’  Who is this Motown group, often confused with The Temptations? 


ANSWER: The Four Tops
5.
The two sons in this play, Edmund and Jamie, are both alcoholics. For most of its duration, Mary, the wife, is in a morphine-induced haze. Cathleen, the maid, and James, a retired actor, round out its cast. It runs from 8:30am to midnight during a single day in August 1912. It is set at the Connecticut home of the Tyrone family. It won the 1957 Pulitzer Prize for Drama. What is this posthumous play by Eugene O’Neill?

ANSWER: Long Day’s Journey Into Night
6.
The uncinus type of these appears when there is no wind shear. They have ‘fall streaks’ which are precipitation that evaporates before hitting the ground. They typically form above 26,000 feet. What are these thin, wispy clouds? 


ANSWER: cirrus clouds

7.
The testimony of Roger Cly and John Barsad nearly convicted him of treason against Great Britain. He reveals to his father-in-law, Alexandre, that his true last name is Evrémonde. In a treason trial against the French Republic, he is convicted by the testimony of Defarge. What husband of Lucie Manette was replaced on the guillotine by Sydney Carton at the end of A Tale of Two Cities? 

ANSWER: Charles Darnay
8.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  6x plus 2y equals –28 and 4x minus 2y equals –2, which when solving for x, simplifies into 10x equals –30.

ANSWER: x equals –3 and y equals -5 (can be said in either order)

9.
In the late 1950s, he was Packard Motors’ head of research and development. When Packard folded, he started at General Motors, where he designed the Pontiac GTO. He left General Motors in 1973. He started his own business with a factory in Northern Ireland that made sports cars. His business went bankrupt and he was tried for cocaine distribution. Whose company made the DMC-12? 


ANSWER: John De Lorean
10.
In between his two terms in Parliament, he was the head of the National Citizens Coalition. He succeeded Stockwell Day as his party’s leader in 2002. In 2003, he merged his Alliance party with the Progressive Conservatives. In the January 2006 election, Paul Martin’s Liberals were defeated by his Conservative Party of Canada. Who is the current Canadian Prime Minister? 

ANSWER: Stephen Harper
11.
Illegal types of this insect include wondering violin, spiny flower, ghost, and Egyptian.  They feed on other insects and most of them practice sexual cannibalism.  Name this insect named for its stance, as if it were in worship. 
ANSWER: praying mantis
12.
He tells his secretary Effie that he’s ‘a detective.’ He is having an affair with the wife of his former partner, Miles Archer. He deals with Wilmer Cook, Joel Cairo, Brigid O’Shaughessy, and Casper Gutman as he tries to obtain a bejeweled bird. What detective, created by Dashiell Hammett, appears in The Maltese Falcon? 

ANSWER: Sam Spade
13.
It is the name of the estimate delivered to prospective home buyers laying out the bank’s honest estimate of closing costs. When the word ‘utmost’ goes before it, it means all parties to a contact must mention any material facts known to them. What term is the translation of the Latin words, bona fides (boh-nah fee-days)? 

ANSWER: good faith or bona fides
14.
Christopher Clavius and Aloysius Lillius calculated the astronomy and mathematics behind this 1582 reform. England did not adopt it until 1752 and Russia did not until 1918, as many Protestant and Orthodox believers thought it was some sort of Catholic plot. When a country adopted it, it had to skip ten days in order to correct the accumulated error of the past millennium. What replacement to the Julian calendar is the calendar we use today? 

ANSWER: Gregorian calendar

15.
This 1933 film’s success saved Warner Brothers from bankruptcy. Characters include industrialist Abner Dillon, director Julian Marsh, and understudy Peggy Sawyer. Its plot revolves around Dot Brock and the musical she is starring in, Pretty Lady. It contains the songs ‘Shuffle Off to Buffalo’ and ‘You’re Getting to Be a Habit with Me.’ What is this musical, named for its setting, a Manhattan street? 


ANSWER: 42nd Street
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Its first two parts were directed at men, and included advice such as ‘How to Find Her,’ ‘Triumphs are Good Too!,’ ‘Give Her Tasteful Little Gifts,’ and ‘Aphrodisiacs.’ The third part included advice to women such as ‘Conceal Your Defects’ and ‘Try Young and Older Lovers.’ It was written eight years before its author’s exile to Tomis on the Black Sea. What is this love manual by Ovid? 


ANSWER: The Art of Love or Ars Amatoria
2.
This holiday celebrates Abraham’s readiness to offer his own son as sacrifice to God. In 2008, it will be celebrated on or around December 8. It is celebrated on the 10th day of Dhul Hijja (dool HEE-jah), and is accompanied by an animal sacrifice known as qurbani. It occurs at the same time that pilgrims are coming down from Mount Arafat during their hajj. What holiday is the ‘bigger’ relative to the holiday that celebrates the end of Ramadan, the Eid al-Fitr (EED al-FIH-ter)?

ANSWER: Eid al-Adha (EED al-AH-dah) (prompt on “Eid”)

3.
It can be represented by the equation A x squared plus Bxy plus C y squared plus Dx plus Ey plus F equals zero where B squared equals 4AC and A or C are not zero; or it can be represented with the quantity x minus h squared equals 4p times the quantity y minus k.  Name this conic section that is the locus of points that are equidistant from a line called a directrix and a point called a focus.

ANSWER: parabola
4.
It is surrounded by the Ansel Adams, Hoover, and Emigrant Wilderness Areas. It contains the Lyell Glacier and the Mariposa Grove of giant sequoias. Its El Capitan cliff is a popular destination for rock climbing. It shares a name with the highest waterfall in North America. It also contains Ribbon Falls and Bridalveil Fall. John Muir helped establish it as a National Park in 1906. What is this national park in the Sierra Nevada? 

ANSWER: Yosemite National Park

5.
Named after an English chemist, it is similar to Raoult’s law and its equation is e to the p equals e to the k c.  It works best for dilute solutions and is demonstrated by soft drink effervescence.  Name this gas law that states that at constant temperature, the solubility of a gas in a liquid is directly proportional to the partial pressure of the gas over the solution.

ANSWER: Henry’s law
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

